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CHILD DEVELOPMENT AND PEDAGOGY
According to Ebbinghaus rate of | 3. Sustenance of motivations is more
forgetting is more immediately in this type of motivation.
after.............. (1) Extrinsic
(1) 20 minutes of learning (@) Intrinsic
(2) 2 days of learn%ng ) External
(3) 6 days of learning ) Ui atic
(4) 31 days of learning
B2UE0 DO’ (D 255 Tes 28

SEORIS B0, 2518 Sexs B B e Sl
T S08000 ... e
(1) ezidols 20 22oe Sovs =
(2) BTS2 oo SoxS (2) ORI
(3) 8iols 6 Swe ST (3) g
(4) egifols 31 Bme sors (CYRE~TREAT
Development of the individual | 4. As per the Right to Education Act,

depends upon the interrelationship
of the following :

(a) Physical

(b) Cognitive

(c) Emotional

1) (a), (b)

(2) (b), (c)

3) (), (a)

(4 (a), (b) and (c)

28 Gk, JsiSiase, B2 (300 womre FlorciYe!
SOPOH0 D LFEIE Sotocd.

(a) &rox

(b) g

(c) etymss

1) (), ()

@) (), ()

3 (), (a)

(4) (a), (b) o0a (c)

(2]

2009, maintenance of records of
children upto the age of 14 years

residing within its jurisdiction is the

(1) Mandal Educational Officer
(2) District Educational Officer
(3) Local Authority :

(4) Head Master

DRIy, B30, 2009 (ste, Hos0ast
QISD 14 SodTre Saiisy 555 1o Sge
700 ATETOCD LD ..o

(1) Soote DRS00

(2) 2 DRS00

(3) s epzon

(4) ESFmeinan
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One of the following helps a 10-year-

old girl to ride a bicycle efficiently.

(1) Learning and maturation

(2) Maturation and readiness

(3) Learning and readiness

(4) Readiness, maturation and
learning

B4 305 BES) TSE° 10 Sossore wdE

2365 BsgsoBom §7,m08 SSabNEn.

(1) 255 980 SOSED

(2) SN SO Socsd

(3) o oBats oD

(4) $52oi55, SOS%D So0L SN0

People speaking different languages

are living in a village. As per the

inclusive educational policy, this

type of elementary school need to be

established in that village.

(1) Separate schools based on each
language

(2) A single school having sections
for each language

(3) A common school for all

(4) A school with medium. of’

majority speaking languages
S0 g SFepEsTte ¢8 [Hsces
DRBITHTS. BeD JERTe BT,
[P5008° geandosd JOIocesd FET LR
oS0,
(1) PP (oklon SsHts FETeed
(2) 23 FoPed’ BErsH s JgFTresct
STV
(8) e502508 e e
(4) 500l BRTL gPK
FET

X SooBodS

(3]
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Expand DAT.

(1) Differential Achievement Test
(2) Differential Aptitude Test

(3) Differential Ability Test

(4) Differential Attitude Test

DAT 2 259500508

1) é;agossé PSR B
(2) &S00S espenrile 83
(3) &58Q0m6 2003 B

(4) &ssaQo58 essdear e 83

As per NCF 2005, the teacher

. shoulduse..........

(1) single textbook for a subject

(2) multiple textbooks for a subject

(3) textbook developed in local
language only

(4) a single textbook for a subject
published, by« a state

government only

NCF-2005 (@590, &arorosotss

FEEHETR0 B2DG0T ESBPACTD.

(1) @S ST o5 FEeHBso

(2) 23 ST wiod FeHIo

(3) FE RS’ EroLoLD PN
S0

(4) TR 0B o8 ST B0 X
G0 BrEw
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When a baby cries out of hunger or
discomfort and the parents
responding immediately every time,
makes it learn that the parents will

meet all its needs. As a result one of

the following begins to develop in the

baby.

(1) Trust

(2) Autonomy
(3) Initiative
(4) Identity

PR T @55 eyt F80Y Do
BOFE BV oBoIT, FLY B
ST Stinestd BdEoe Sty
SIS, BHDBTT TS SBPR IR,
(1) So%e

(2) B0 PSHS

(3) Sosamstse

(4) o0

One of the following is NOT correct
with regard to teaching.

(1) Directional

(2) Motivational

(3) Interesting

(4) Enforcing

5% Bowohod B 308 IS’ 5o
508,

(1) G Bord

(2) BEemosnd

(3) e85

(4) DS KPES

4]
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Creation of learning environment
for a class in the school is the
responsibility of ...........

(1) Teacher

(2) Mandal Educational Officer

(3) Student Leader

(4) Local Authority

54 BB TS FeTes SO 186 eiisd
TP SNOWDD TFHBIOD ...
(1) &rregonns

(2) Sookie XrH=0

(3) IR PR

(4) S5 eq=d

One of the following is Havighurst's

developmental task of adolescence

stage.

(1) Learning sex differences and
sexual modesty

(2) Building a wholesome attitude
toward oneself as a growing
organism

(3) Accepting one's physique and
using one's body effectively

4) Developing concepts necessary
for everyday living

S ©To, 208 TS TEFEEEE

Bozofos I K.

(1) BohsFore exgidomnto oo So
0B WIS Ee

(2) 2o, BEDB0 B8 25 S0P PO
BoFrodonssiste e

(3) B8 HOTHKBY wol¥0sd, 0oy
SgPsctent exarhcms Sto

(4) g DTS eNBERA; PRISH
BorodomsSite



13.

14.

W-211/TET-211-EM/TM

Identifying differences between two
stimuliis............

(1) extinction

(2) discrimination

(3) generalization

(4) higher order conditioning

Botss E8isse Koty P, HBowise.

(1) i)e:oéwmo

(2) ¥

(3) Sruedstenc

(4) &y 50 Do

According to Piaget, langu.age
development occurs rapidly during
this stage.

1) Coﬁ'crete operational

(2) Formal operational

(3) Sensorimotor

(4) Preoperational

DOXPE (BIUe IS e DSWo
DMiSoHemT &otwod.

(1) St Bores 5%

(2) QoW Pres 3

(3) 20BH e 555

(4) et o 55

15.

16.
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'Freedom of expression'is............

(1) not a child right

(2) a right of mentally healthy
children only

(3) a child right

(4) a right of all school going
children only

PSSO Sy SR e

(1) oo S35y, %

(2) SorShEon esCliem EHDee Ty
RUTERE

(3) =5 wroo PEy,

(4) a8 0 k), SR

The feeling of satisfaction that
increases the likelihood of the
sequence of the behaviour to occur
againiscalled.........

(1) law of exercise

(2) law of effect

(3) law of readiness

(4) law of contiguity

T g SPGB, w¥ BRISK Sod)
Tosoty HoN EOAD LHNoPErd® P
WD) (BEBome
DOPOREOE BHBOD .cevevrrenes

(1) s Joioe

(2) $0% oo

(3) Seio Jokve

(4) S5 oo

eSSSUTET)
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17. Application of bitter agents on

18.

19.

thumb to discontinue thumb
suckinginachildis............

(1) negative reinforcement

~ (2) positive reinforcement

(3) punishment

(4) zero reinforcement

332&65 SeoSDe0 U8 - eoereasid
BERHOUEERS, %0 Deoks DD STFTOR

(1) p&xFe HGese
(2) eosre Hhese
3) Botss

(4) WS DGR

The teaching strategy that DOES
NOT involve democratic style.

(1) Group discussion strategy

(2) Project strategy -

(3) Tutorial strategy

(4) Brainstorming strategy
eprsacg 3R SORe0el SR s,
(1) P8y Bozy Rero

(2) PESyrgro

(3) S grgio

(4) G0 grsro

One of the following is an example

for intraindividual differences.

(1) 'A' and 'B' performed a musical
concert in which 'B' excelled

(2) In spite of studying for the same
number of hours, 'A' used to take
more time to learn a concept
than 'B'

W-211/TET-211-EM/TM

(6]

20.
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(3) Though having. interest in
academics and games 'A' always
used to excel in games

(4) 'B' used to quarrel always with
peer group members, whereas'A'

used to be calm and quiet

53 300 TRE° $EEOES Prross w

e,
(1) 'A' $00a% 'B' o0 gy &X Bofis
©55:58° B! wree erme Dt

(2) S50PS Kowood WO $i5y38 X eFeo
A Soets B 3on A D 580,
BR85S

(3) WD 9000k €528 58S didyidye3d A
€5656° 50 DT TPRACBTE

(4 B & Saonotined  Joypew
PP 59 A J%5)220T 0L

An individual's personality is the

result of his/her ...........

(1) genetic endowment

(2) child rearing practices

(3) social setup

and

(4) genetic endowment

environmental exposure

28 58 oY), BaPGRoBR0, B/
Glook), T4 ©907°0 GBook), HOBO .........c.c...
(1) SoEFEcHBET SoEOWHD

(2) oo BosEYy SEoed

(3) rarey S

(4) SoEFCOBYEM® SolERLonNd B0k

Iate) é@?géoeu
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Controlling one's emotions,
impulses according to the changing
situationsis knownas...........

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

QATCOBO Té@?géoe: E3onhossone, 53_%{926
EATmeRs, Brets etnds’ ecussio
(1) 0% essomiesd

(2) 0% Jowoses

(8) =& Fzromte

(4) 0% (o

Support for learning in problem
solving which allows the student to

grow 1n independence as a learner

(1) zone of proximal development
(2) self-instruction
(3) instructional conversation

(4) scaffolding

BRoTg FEHE® Pgidso Bk HE
B0 TN SdoBome JSNEPIS

(1) S vadsise
(2) dxoiossisd

(3) Seritormags
(4) 3, 0F

23.

24.
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

e BEOE° &reroints Yo Wi
BosTHes® 3030, EHHTHRD BRI,
QUpTe .

(1) 28 &0

Q) BARrTES 550

3) QT B

(4) &Sargousd

Weight of new born baby quadruples

(1) 2 years

(2) 3 years
(3) 1 year
(4) 6 months

E0 PR 2BIY T+ HAE” TDoBeo

(1) 2 Sondyoren
(2) 3 BcsByoree
() 1scssto  /
(4) 6doe0
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Controlling one's emotions,
impulses according to the changing
situationsis known as...........

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

BrEaBsR) BohBoe KsoNoren, S350
SR, BTSTe etsdS’ dowssiio
(1) 3508 e

(2) 0% dowopes

(8) =& Fgromte

(4) 0% [©oes

Support for learning in problem
solving which allows the student to

grow 1n independence as a learner

(1) zone of proximal development
(2) self-instruction

(3) instructional conversation

(4) scaffolding

BEoFy PEHS’ ePgooso B HED
So8os eErgE HboBomr JSKERS

(1) Saisg paasese
(2) Sxonskhss

(3) S%Sogres
(4) ¥ Oeh

23.

24.

[7]
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

1 3506 edrerosns Yt Wive
BosTnes® B8RO, [HHTHR BSIIBY,
QTaIPR.

(1) 568 e300

(2) BRTFeE S5

3) QTR DI

(4) erergs 853

Weight of new born baby quadruples

(1) 2 years

(2) 3 years
(3) 1 year
(4) 6 months

S5E0 PR LI T4 DS TDoBeo

(1) 2 3cSdyore
(2) 3 Sontyores
(3) 1sctto
(4) 6doe0

N Turn Over
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Controlling one's emotions,
impulses according to the changing
situationsis known as ...........

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

QAPEOBIY f.’aﬁ?gééoe) Fonoesone, B’)séétﬁ
SRS, BIETe etid S’ ecussiuto
(1) S0 e

(2) 2500 dowoipes

(3) e Fgremyto

(4) 0% (@t

Support for learning in problem
solving which allows the student to

grow in independence as a learner

(1) zone of proximal development
(2) self-instruction
(3) instruectional conversation

(4) scaffolding

BEoF PEIS® egigsnts ok VGO
Bo00y eEPGsE HBoor ENER3

(1) s (S0
(2) Sxo%stss

(3) & sogmies
(4) »PFeh

23.

24.
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

e BEOE° EIeEgaing Yoo Sive:
BosTned® $88D0D, [HHTNN OB, |
QBETES.

(1) %8 e300
(2) Bairmes R
3) QTS WD
(4) &orergsEd

Weight of new born baby quadruples

(1) 2years

(2) 3 years
(3) 1year
(4) 6 months

BB FHP WY T+ OIS o

(1) 2 Scsdyoren

(2) 3 desdyore

(3) 1sos8po  /
(4) 6o

N Turn Over
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'Universal Grammar' as narrated by

Chomsky is ...........

(1) a built in storehouse of rules
that apply to all human
languages

(2) a developed rules that apply to
the languages of all the
creatures of the world

(3) a built in storehouse of rules
that apply to all animal
languages

(4) a built in storehouse of rules
that apply to all children

TR, B0 CRBE TEEE0? SR ...
(1) ey S0 FPRe% eaos0cd Do
€00 PR OIMPD 0D Aoy
(2) B8owes® 25y ZRTHOLE eoBtoD
QT BIFZPODOW 2969 GPAPOTRATTE

(3) @) motoHL FRE BBoBToNwt
QO LOBLB AGH

(4) "beﬁ:ecéﬁé @SB 0oBWE YR
B A0S

The process of social maturity

begins at this stage.

(1) Adolescence

(2) Puberty

(3) Childhood

(4) Adulthood

B2 8555° oiok HOKED AoSeHBood.
(1) Towsess

(2) OB Stey 5%

(3) wrog s

(4) s@Br=s &%
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27. A student of class X took same

28.

8]

number of trials for relearning a

lesson. The saving score of student

5 B BUNS 20 PoicTo) PORSTARUS I
G50 SRS, (SoWTRyeR SeEirs.
9515050 €9 TPERY KOS v

(1) 50

@) 0

(3) 100

(4) 25

Lip reading is a technique used to
teach children with this disability.
(1) Hearing impairment

(2) Visual impairment

(3) Learning disability

(4) Cerebral palsy

5+ DK Ko HookH BP0 DEJ
B8507 &5 B85 ENErAT.

(1) 223&8%0

(2) Had'se

(3) egiss e

(4) R0y, S50
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29. The basic objective of 'Guidance'

(1) to create awareness among

students about guidance

(2) to help students to make their
own choices so as to enable them

to take decisions independently
(3) to make students to obey elders

(4) toidentify the problems faced by

the students

SIS0 G, (P OFO -oivererene

(1) dooed® SrsssEse 3ok
33 n S 3

IRTETPR0 $Dycntéo

(2) drgiges PITEOH oS 50eS"
STPOisNttio WER T oo

DgciTres H5ESS DG DoNEo

(3) DpBoons, BEH> D Dere

HOIRG Doktio

(4) Degtices THS SHose HBowe

30.

indicates
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In continuous comprehensive

evaluations, 'comprehensive'

evaluation of an

individual in the following domains.
(a) Cognitive

(b) Affective

© Psyc‘homotor

1) (@), ®)

(2) (), (0)

3) (o), @

(4) (a), (b) and (c)

(QBEBB Bl Barerosse? &° (SR’
030 52 (300 torres® 5D Sararovo
Kaed

() sogwss
(2) w=s

() PSRy - SoveS
@ (2) (2)

@ (2), ()

® (3) (2)

@ (3 (@) (%)
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LANGUAGE - 1: TELUGU

31-36: 30055057, 90D 31 S0 36 Wi
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e SEEE0es
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K,PE0%0
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32.

33.

34.

35.

36.
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(1) S350, Moo Soren
(2) Fo, Sote (1) K0 + W&ot
(3) ©d, oo (2) =5 + BoBBE
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38. Swdozs JoNoyem B TEBE q96 (4) 5 + Gotsgoo
BE0ECe. 41, 305 58 - &5 5850 Bs BAPPIS ST
(1) Peo Boooe (1) seBantonmm
(2) o g ats0S” (2) S0 BEayBRR
(3) LsvoBoe Wwasotd (8) Je5en PERES BOTrEas
(4) ess® DLy EeEs (4) B0 BERBERED
39. @9 - & SR TTTe 42. T2 S0P eRos0oD BErTroS (35S DI
(1) Bos, Biss roewe Sogg
(2) Sworiivo, 3 (1) s
(3) e, Saxe Q) Do
(4) 308, Be (8) esto
(4) 5208
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FHOTOI VOO — e SO Doeals
2200 555

(1) Speoastss

(2) SeUEROcD B

(3) 205 &%

(4) St 549

T Se3 596, STt THOP DTPzed
BDEE DO BES

(1) dmPesgsso
(2) eoarSsnd =)
(3) PN 553

(4) e90BoTFd i
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61-65: Read the following passage.

If you look around and observe
common people, you'll recognise that,
they too have a big dream. They ignore
it. They deny it. They even bury it. It also
happens due to lack of knowledge and
ignorance about the power of learning.

If you look around and observe
excellent people, you'll recognise that,
they have a big dream. They never ignore
1t, nor do they deny it. If they had done
mistakes in the past, they free themselves
from self-contempt. They live their dream
by extracting more and more knowledge
from the nature, surroundings,
erﬂrwt, E)ast experience andglost
important ofall ......... their failure. They

act in a more mature way by accepting
that nobody is perfect! There is always a
room for doing things in a better way.

Excellent people are those who face
tremendous setbacks. They don't suceeed
because they have an abscence of
problems, but because they have an
abundance of strategies to implement and
rise above setbacks.

Not surprisingly, excellent people don't
blame themselves or others for setbacks
or don't even believe in excuses, they
believe in results and only results. They
know this truth of life that it is a big world
out there and in terms of opportunity, its
getting bigger all the time.

If you are not fulfilled or as
successful or as prosperous as you know
you could be, stop making excuses and

W-211/TET-211-EM/TM

stop blaming your parents, your

education, your surrounding and take

tall responsibility for your circumstances.
Get up and look for situation you want and
if you can't find it, make it.

Now answer the following questions based
on the given passage.

61. Common people do not realise their

dreams due to the ignorance about ...
(1) the power of learning

(2) the power of money

(3) the power of people

(4) the power of light

62. Excellent people live their dream by

extracting from ............

(1) nature, social circle and failure

(2) nature, money and failure

(3) nature, environment and
personal charm

(4) nature, past experience and

failure

-

63. Excellent people...........

(1) never face setbacks

(2) facesetbacks

(3) are always perfect

(4) are self-contemptuous

The truth of lifeisin ...........
(1) terms of opportunity
(2) terms of power

(3) terms of people

(4) terms of excuses

64.

65. If you can't find the situation you

want, you haveto........
(1) give up

(2) look around for help
(3) makeit

(4) postpone it

[14]



BOOKLET @

66-70 : The following passage contains numbered blanks. Identify the correct option

for each of the blanks from those given against each number.

If possible find a quiet place to study. You................ (66) to spend a reasonable
amount of time for home study. Two to three hours on working days will be

................ (67) sufficient if you are in your postgraduate or professional studies.

Thereisms.&....... (68) of common sense in the proverb ............. (69). Good students
usually have as their friends other good students. Xavier was ........... (70) student
but in standard IX, he began to improve fast. The reason he gave was that

Vincent, who came into his life, was a good student.

66. (1) should 69. (1) birds of same feather flock
(2) need together.
(3) has (2) be a Roman while in Rome.
(4) was (3) do good and be good.
67. (1) u's nally (4) abird in handis better than two
(2) frequently in the bush.
(3) always 70. (1) aindifferent
(4) often ~ (2) theindifferent
68. (1) better (3) much indifferent
(2) enough (4) anindifferent
(3) alot

(4) sufficient

W-211/TET-211-EM/TM [15] Turn Over



71.

72.
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'Why haven't you gone to school
today?' He said to her.

When you changed the above
sentence into the reported speech,

you will get the following.

(1) He asked her why you hadn't

gone to school today.

(2) He asked her why she hadn't

gone to school today.

(3) He asked her why she hadn't

gone to school that day.

(4) He asked why you hadn't gone
to school that day.

Pick out the correct sentence among

the following.

(1) No sooner had I put the phone

down than it rang again.
(2) No sooner than I had put the
phone down, it rang again.

(3) No sooner than had I put the

phone down, it rang again.

(4) No sooner I had put the phone

down, it rang again.
\

73.

74.

75.

(16]
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You must buy a ticket to see the
picture.
Change the above sentence into a

compound form.

(1) If you buy a ticket, you can see

the picture.

(2) Buy a ticket, then you can see

the picture.

(3) Buy a ticket and youcan see the

picture.

(4) Unless you buy a ticket, you

cannot see the picture.

No one can do anything.

This sentence can mean.

(1) Anything can be done

(2) Anything could not be done
(3) Anything is done

(4) Nothing can be done

My family has been living in
Hyderabad for hundreds of years.
Identify the auxillary verb.

(1) Has
() Been
(3) Living
(4) For



76.

THG

78.
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Shall I wait till you come?
The function of the model in the

above sentenceis ...........
(1) obligation

(2) offer

(3) order

(4) suggestion

I went to the station to say good bye
to my grandmother.
Choose the correct phrasal verb

instead of the underlined word.
(1) See off

(2) Drop off

(3) Putoff

(4) Dash off

Fitness regime should be a part. and
parcel of everyday life.

The underlined phrase means .....
(1) dedicated

(2) help one another

(3) livelihood

(4) anintegral part

79.

80.

81.

82.

17
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Nick managed to pull through to
become an international symbol of
triumph over adversity.

The underlined word means .......
(1) disability
(2) movement
(3) difficulties

(4) opposition

In which of the following words is 'H'

pronounced?
(1) Hour

(2) Howl

(3) Honest
(4) Honour

One of the following is NOT a plural

form.

(1) Roses
(2) Boy's
(3) Boys
(4) Cats

When one is looking up for the
departure of the train in the
newspaper, oneis........

(1) reading

(2) looking for information
(3) scanning

(4) skimming

Turn Over



83.

84.

- 85.

86.
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Vitae'

information about ............

'Curriculum gives

(1) the holistic personality
(2) the need of the person
(3) the waiting ability of the person

(4) the speaking ability of the

person

Presentation of ideas with clarity,

connectivity and thoroughness

(1) comprehension
(2) revision

(3) comparision

(4) cohesion. .

Frequency and usefulness form the

basis of one of the following.

(1) Situational approéch

(2) Structural approach

(8) Grammer translation method

(4) Language games

Remedial teaching is essential for ...
(1) good learners

(2) slow learners

(3) any learner with a gap

(4) gifted learners

87.

88.

89.

90.

(18]
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Continuous comprehensive

evaluation focusseson .........
(1) process evaluation

(2) product evaluation

(3) achievement only

(4) basics, evaluation

The paradigm shift in learning in
National Curriculum Framework,
200518 ... 5

(1) discovery learning
(2) activity based learning
(3) teacher centered learning

(4) exploratory learning

Micro teachingis .............
(1) an approach

(2) a technique

(3) a method

(4) a device

Public address is an exampleof .......
(1) language skill
(2) readiness skill
(3) linguistic skill

(4) communicative skill
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912

92.

93.
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The sum of integers between 50 and
150 which are divisible by 7 is .........
50 8ok 150 o e 5oa)§e>68 7
PhcH QLOPOANED .......

(1) 1162

(2) 1100 +

3) 1172+

(4) 1421.

If the mean of the set of observations

X3 el N , X518 20, then the mean
of
vt e AR T [ » X0 +40
IS
T e 2 y X0 TF00 Sheod 20 9005
Xit4, X680, +12, ... 4 » X0 +40
TV S ......... - uo
Y =

(1) 38 = L;o i:
() r—— g

o » 0 A 2(—2
3) 42 / v

3 1

(4) 44 -8

If one of the exterior angles of a
triangle is 105° and the interior
opposite angles are in the ratio 2 - 5,

then the angles of the triangle

(Sgbeo G, 2.5 eiEer0 105° 580k
) 0BT DR Sewen 2 - 5 DT’.:Q@PS‘"
DT & (@2 Sewen ..
(1) 30°, 75°, 75° : 7)
(2) 100°, 50°, 30°-

(3) 60° 459 750

(4) 50° 559, 750

94.

95.

96.

[19]

If the sum of three consecutive

multiples of 7 is 777, then the

biggest multipleis.............

7 Gooty; 03 565 Mordeve Suogo 777
90200 S 281030 ...

1) 252 e

@2 266. =

(3) 259

(4) 225 «

A room of dimensions 8 m X 5 m has
a varandah all around it. If the
width of varandah is 2 m, then its
areainm?is............

8 . X 5 . Sesen e &S0 Doeagr o
Ko, & S5 e 2 Do. eaxsd o0

E>Fs°e>§c (iﬁ.ib.vﬁs) .........

(1) 30 .
e =T s
(3) 40 2(3 +)
(4) 18 26

If a shopkeeper marks his goods 20%
above the cost price and allows a
discount of 10% on them, then his
gain percentageis............

&5 QoSTermrtos S0e (BEed oo
S0 53 20% edsor (%30, 0 d
10% dxéom: (C’t.%‘boeg) Qo) B3 iy

1) 15%
©@) 12%
(3) 10% -
4) 8%

- Turn Over



97.

98.

99.
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As per the laws of Physics, weight of
an object on the moon is
proportional to its weight on the
earth. If a man of 93 kg weighs
15.5 kg on the moon, then the
weight of a 69 kg woman on the

moon (in kgs) is..............

3°Bs ?g QoL (35750, Weltod 20
2255 0000 FIPRD P et S 2B
eorHes Yoeran. 93 86% ety He 1.8
DTR5R LY Vo D 15.5 85%0 &vis,
69 38% w5 Ko & 200 B &4 D

(§. . 955 ......... 0\77/

1) 11.5¢ (2) 10.5 a 1
5 o b

8) 12.5 (4) 13.5 %

The average weight of Raju, Deepu
and Venkat is 40 kg. Both Deepu
and Venkat have the same weight.
If Raju's weight is 46 kg, then
Deepu's weight (in kgs) 1s .....

orez, B 558050 esehe St w8 40

8., 508050 8, esBe extitges Sarse.
TPe 250 46 3.v. eond 8 20509

N
(8r.08)......... L\FD\'/} /\) i
(1) 40 @) 39 eP* .
q
3) 38 @) 37,46%

A man walked certain distance. He
covered 2/3" of it at 4 kmph and the
remaining at 5 kmph. If the total
time taken is 42 minutes, then the

total distance (inkms) is ........

100.

101.

[20]

LA

— “BOOKLET @
Z,

2
2% 358 8% BEDS ESrtmd’ 3 wot 4

W

—
85

8.2, /Hoil Bi208%, WA BB 5
8.2 /o iisas8’c0 SEDS. T3 SIS
LR 080 42 il S0 Hedd B
DGR 3o (8.20.08Y) ...

19 @) 6
(3) 12 4) 3.

If a wire bent in the shape of a circle
of radius 25 cm is straightened and
bent in the form of a square, then
the length of the side of a square (in
[Use 7=3.14]

25 0.0, TR I s tand’ sowed
&Y B DT B BBOPTHE0T
SO, &2 BEoUSo fhwo S (R0.80.08°)
[z=3.14] fix" B L3

) 39.25 2) 29.5 73S0
(3) 39.5 (4) 29.2578-5°
b\
e\ AB€\, 1f DE||BC -‘and
AD
DB = 5 AC=5.6 cm, then AE
(incms) T |
AABC & DE||BC 805> il =§,
DB 5
AC = 5.6 2o.20. @owd AE Son
(?oo.fb.eés) ......... ;
@ 25 @) 2.3
(3) 16.8 (4) 3.4
AL @\P
£
o gL ¥



102.

103.

104.

105.
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Which one of the following is NOT
a Pythagorean triple?

BB 3" FROADS (@80 =06,
Q) 3,45 <

@) 5,12, 13 <
3) 9,10, 11+
(4).8 15 17 4 o

'5 a

If the perimeter of a semicircular
protractoris 54 cm, then its diameter

(in cms) is

(Use IZ'=E)
v

SY P TEtY S oy P
54 20.20. 0330 T w50 (Ro.0.08%)

...........

— SWU tan
( 22) I e
B=imnl sl ol e s
7 2 271 B
1) 21 @ 105
s
3) 27 (4) 138.5
The normal human body

temperature is 37° celsius, then the
same temperature in Fahrenheit
scaleis

ST Fervies 500 & 37 eowss
SO Bi5558° B 5530 SAS
41) 98.4° (2) 98.6°

(3) 96.8° (4) 94.8°

Diameter of base and height of a
conical tent are 8 m and 3 m
respectively. If the rate of canvas

cloth is ¥ 70 per square meter, then
the cost of canvas cloth required

(in%)is

/BN

106.

107.
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&8 oo .e;as‘?ﬁ;@) b o0 TR
QOO e BT 8 Do, Kedokn 3 Bo.
om0 Boko T8k D 19.80.5. 8. 70
900 €3 HOGPBo WO ToHHed T2
P8 (trapes®)

(1) 440

(2) 4400

(8) 4440~

(4) 4447

If A, B, C are any three points of a
plane, then which one of the

following is NOT possible?

A, B, C e 2.5 006D DT HorEso
Delixpes e &+ 3o s’ Jugn
892

(1) AB+BC=AC—
(2) AB+BC>ACH
(3) AB+BC<AC
(4) AB+BC=>AC,

®

, P

The scale of a map is given 1 : 30000.
If two cities are 4 em a part in the
map, then the actual distance

between them is

25 8o 1 : 30000 &,e08% Ackendss.
e35008° Bots> Begeainne Bogsy SRs
4 50.20. 9055 T3 D05 DeEPER ...
(1) 1.2km
(2) 1.2m
(3) 10.2 m
(4) 10.2km

Turn Over



108. If 25% of 25% of 25% of x is 25, then

109.

110.

i b
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the value of 'x' is

2 G0 25% G, 25% GIaoy, 25% Dessd
25 e50205 X Deskd
(1) 1600
(3) 1400

(2) 1500
(4) 1200

If the price of a cooker including
5% VAT i1s T 2,940, then its price
before adding VAT (in%) is

25 105 8 o 5% S8 500 &, 2,940
@WOD W HoNE Bvekd R Y

(er>apes)..........
(1) 2,800 (2) 2,753
3) 2,793 (4) 2,900

If the perimgter of a rectangle 1s
28 m and its area is 40 m2, then its
length (in meters)is............
2.5 OF BoUE) WoeSle 28 Q0. Heddix
e 40 .. osd TR FED
(2055%)
@) 4

3 8

(2) .6
(4). 102

If three cubes whose edges measure |
3cm, 4 cm and 5 cm are melted and
made into a cube, then the edge of

the new cube (in cms) is

3 230.20., 4 20.20. 0005 5 20.20. 060
SPeden Ko Haris B0 Hodkey ¥0R0d
2.5 5R050:5500:00 HOYTED Texd T 020
S0 (?oo.fb.e:éis)

s ey 60 +($
1 9 @) 8
3) 7 (4) 6 ﬁ

[22
7o DY
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112. Number of cuboidal soaps of si

113.

114,

4 cm X 3 cm X 2 cm can be placed 1
a cuboidal box of size 12 em X 9 c1

X 6 cm 1S

12 26.55. X 9 2.0, X 6 Do.20. Sode

Ko &5 poovss 2560 Hosndn |
|
4 350.20. X 8 20.20. X 2 20.20. Sesy |

e 5§;’;:3°s1=€5 Seonyw 5::335 ...........
(1) 37 (2) 47
(3) 72 4) 27/

The angle formed between angulal

bisectors of a pair of linear angles

B DEE eo ..........

(1) .720° (2) 40°

(3) 110° (4) 90°

The median of a set of 7 distinct

observations is 15. If each of the
largest 3 observations of the set is
increased by 3, then the median of

the resulting set is

7 Do o TR SoGgiEsn 15. ISR
ST D TR 3 Ty X0 Bt

DG TR0 SIS ...
(1) 12 (2) 15
(3) 18 (4) 20

,
]f§ . \.O’b%z/
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115.

116.
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Observe the following statements, in
the order they are given

'11s less than 100

2 1s less than 100

3 1s less than 100

4 is less than 100 -

Therefore all natural numbers are

less than 100'. The type of logic the

sentences presentis ...........

(1) Both intuitive and deductive
logic

(2) Neither intuitive nor deductive
logic

(3) Intuitive logic only

(4) Poor inductive logic

53 (308 SOreid e (Ses® nudoted

€1, 100 5o& 8%

2, 100 ¥o& 8%

3,100 S0 By

4, 100 %02 8%

QOLNR Sire Sopgen) 100 ¥oil By,

B TR0 BOD BYS® ...

(1) S PR WOBOHES IS By S0

(2) e QY 88,0970, sk By, 9
™0 %50

(3) Sime: POY B0 ARG

(4) E5te RIS BEyR0

In teaching Geometry, the correct

way of teaching a theorem is ......

(1) analysis of Hypothesis and
conclusion, followed by synthetic
proof

(2) analysis of Hypothesis and

followed by

synthesis of proof

construction,

e

(23]

(3) analysis of Hypothesis and proof,
followed by synthesis of proof
(4) synthesis of proof, followed by

analysis of construction

P S8, SopoTrd) SRoBEds

(1) é@:o;o o8B ForcEo Gloy), Jses-
&5 BB OB D

(2) smcto B0 ATyEse Gl Jses-
&3 BB BOTITHHS

(3) Emmoto b0 ESBE Gk, Tses
&3 BLITD SOTITISHD

(4) SOBESWBG- es BEITH Joues e

'"The knowledge or skill acquired
through thet‘»study of a topic helps
in acquiring the knowledge or skill
of another topic'.

The Psychologist, who proposed this
principleis .....

(1) Stanford

(2) Froebel

(3) Thorndike

(4) Skinner

‘2.5 305 Gk, eoiivo Jabte THoP
Tl e Bor Jdesgioo, I B0
S0k, 2P o Pideagios oS3

BEtal  BeoBood. T JoErd,
BEFBODD TR0 ..........

(1) 56

@) &Fad

(3) ek

(4) 30
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118. A student teacher, had written the

119.
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following statement as specification
of knowledge objective.

'Pupil recalls the formula to find the
surface area of a cone'.

If it has to denote the specification

of understanding objective, then it

should be writtenas..........

(1) recalls the formulae of surface
area of the cone and cylinder

(2) compares the formulae of
surface areas of the cone and
cylinder

(3) draws the diagrams of the cone
and cylinder

(4) solves the problems on the cone
and cylindex; '

5 GO DTG, &+ 30D T &9

0 G0, AT T PG HOBY
oY), a0Be TS BFE) B

BUnSoeTE. 30 TS O Sreastieno,

SrdoTrecd 308 e T asFD.

(1) Bot Sodckin iFsen Gy, &6
ST ST 28 By SPoeresd

(2) %085y W0BO0 BFSH00 GIook, &8
DPT S0 Fon T

(3) oM o0 VSR Gty Bereid
Adres>

(4) By BoBokw BFHHLE HoiwHd
PRI

If learning experiences are
arranged in the decreasing order, of
their effectiveness, then Edger Dale
callitas.........

120.

[24]
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(1) tower of learning experiences

(2) square pyramid of learning
experiences

(3) cone of learning experiences

(4) triangular pyramid of learning
experiences

OFSTRLTOR0, TS Srrre enbie
E5008" 150813, TR JEBEE 500 Heorts.
(1) egigsmsiire oo

(2) eBiSTREETe BB DBRoc

(3) eEETET Ho8Y

(4) opgETgTe (©ibe: HERos

to
achievement, if the behaviours,

In addition scholastic

interests in games and sports,

literary activities, attitudes are all

so assessed continuously, then the

processiscalled as .......

(1) continuous formative
evaluation

(2) continuous summative
evaluation

(3) continuous comprehensive

assessment

(4) continuous comprehensive

evaluation

FET0 Fods; FESE T Joize
Bogsen ewen $6S° ek, PUES
SUEAREP estants, Ppther Kee Dbcto
SROH D, &5 BB FT° DS ...
(1) Qs douerds ROTPSROESID

(2) QBB SoRTe PSS BarcONsHD
(3) oot SRof b

(4) DBoBY S ST EETRO
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121.

122.
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The force to be applied by a
machanic on a hydrolic piston of
4 sq cm cross sectional area to lift
an 8 ton truck on the other piston of
2 sq m cross sectional area of a
hydrolic jockis .........

(1) 8kgwt

(2) 1.6 kgwt

(3) 3.3kgwt

(4) 32 kg wt

2 B, 058’ Frreo o oS b
% XL B 8 e (15855 et
&5 R05°08 4 11t o, o et §5$§:;r?vea§o )
TP Colad oo D ESGIPACTReND 2920
(1) 8 S.ie.w

©@) 1.6 2.

(3) 3.3 ..

(4) 32 &g

The reason for withdrew of planetary

~status to Pluto in the 26% general

assembly of TAU is .........

(1) it 1s a dark, cold, dwarf and
distant celestrial object

(2) it has an orbit resembling to that
of a comet

(3) NASA observations proved that
1t is not a planet

(4) it crosses other planetary orbit

TUA 85 26 % Jerties sesisnd® opes®

I 5 Fioits Felotows e

(1) B =¥ %3, Sotldzg, e B0
L0 QTG Jigy ;’:@gﬁw

(2) o0 8y, S ok, 85 550 FD &b

(3) NASA 5620900 &8 2.5 (559500 o5

QETFRoIR
(4) B D X (90 TPeasiioin®

(25]

123. The superiority of a concave mirror

over a plane mirror, convex mirror

or a concave lensis .........

(1) it can form an image of any
characteristic like erect-invert;
virtual-real; magnified-

diminished

(2) unlike others only concave
mirror can form a clear focussed

image on the screen

(3) it is widely used than others in

day-to-day life situations

(4) for any position of the object, it

forms an image on the screen
QOL B3R, Z0grstY SHyenoo,
RDETSO BeoSihoce By 2.5 Hersed 88eah
P Mo (o Solan FRoopg®

(1) deFss - Bo EFoSoes; Qz-ogrg;
€550~ 305 B BooliTS ) L0
o (BSDowR™ Gtk
BSDo2sR08s BT So|B5BowR

(3) DEERB TS’ WATOTVEY A
PSS XD

(4) D5 PBEI00 90 D B&Dew
2380 AGtoisess
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124.

125.

126.
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If A is aluminium; B is brass; C is
copper; Gis glass; and Kis kerosene,
the correct ascending order their

specific heats in cal/g°Cis ........

A &5 VOFEIAW0; B- 38¢; C-oh;
G-tees 5300 K o 8695 m 5013
e D3P Jeove wbire Sssws®
(3/e- R0ID) ...

(1) B.C,G AK

(2) GA,C K, B

3) C,B,A G K

(4) A,B,C,G K

The odd term of the following, while
describing term amplitudeis .......
(1) density

(2) pressure

(3) loudness

(4) displacement

5o S08 0D wome estRtont Ss
8ol TS 50t escmins ...,

(1) Srose

(2) »esa0

(3) 550

(4) oo

The power of a cyclist having 40 kg
weight, while he raises the velocity
of his 40 kg weight bicycle from 3 m/
sec to 5 m/secin 8 seconds is.......
(1) 5.12k watts

(2) 640 watts

(3) 80 watts

(4) 170 joules

127.

128.

[26]
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40 &.7v. 2250, w 285 40 &.w. grto
EORD géfgﬁmﬁcl 8 i eest 3 . /3. %008
5 0. /2. 5 DoDHED 08D FROZES ...
(1) 5.12 8=,

(2) 6405,

(3) 80=m:5,

(4) 170 &%,

The force acting on a 5 m long
conductor when 2 A electric current
flows through it and 47 magnetic
field observed at 30° angle with the
conductoris..........

5 . IS w5 e Koowe 24 Asod
BRIt 03 30° Srao 4 B
SALT0B Fw MlowwdsS irtep
S eee...........

(1) 2.5N

(2) 20N

(3) 5N

(4) 1.6 N

If the pOH of an aqueous
hypochlorous acid is calculated as
8.64, the pH value of that solution
1S scs...... 00

(1) 6.36

(2) 6.36 moles

(3) 5.46 x 104 ions

(4) 5.36

PSS & 2eoend) pOH dessss
8.64 1 HeRoDidytss es [rsend) pH Devs
(1) 6.36

@) 6.36 375,

(3) 5.46 X 10 scirgy

(4) 5.36



130.

131.
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129. The quantity of carbon dioxide

evolved during complete
combustion of 23 gm of ethanol is ...
(1) 88 g

(2) 22.4 1it

(3) 44.81it

(4) 3 moles

23 o1 5ESE S0 Smso Dol
DI SRS B B E BOSTEIID ...
(1) 88 [w.

(2 22.4 8.

(3) 44.8 8.

4) 3378,

The maximum number of all orbitals

in 4" orbit of an atom are ...........

2¥ BERFepER 4 5 556° &ot e,
e.-s&z)wi@ fitexy 2602p§ ...........

@ 16 =

(2) 32

@) 7

(4) 14

The element that ean not be fit in-a
Dobereiner triod among the

following is ......

&+ ($oB Boreored® wwdsb e5sost

132.

133.

134.

[27]
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The terms gangue, slag and flux are
related to .......... :

(1) roasting

(2) smelting

(3) calcination

(4) poling

2dre, (Gangue) SSmsoes, (E55*0en
B2 BTN BowoHONID ...

(1) s

(2) ProSes

(8) groxstean

(4) SDoh

Among the following, which makes
us to recognise the importance and
conservation of biodiversity is ......
(1) Biology

(2) Physics

(3) Geology

(4) Chemistry

(808 38 &5 P (TS, HOREEI
BEes voa ...

(D) 2s=%0

2) oK RS

(3) gty Tigo

(4) 5FaLS THo

The largest cellis .........
(1) nerve cell

(2) egg of an Ostrich
(3) dermal cell

(4) cell of an elephant

(1) =& 3020
2) ea@_.;«S Sted)
(3) & se20
(4) d%oi> Seno

Turn Over -



135.

136.
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In the following statements, the

FALSEoneis........

(1) The size of the organism depends
on the shape of the cells in it.

(2) The size of the organism does not
depend on the sfmape of the cells
in it.

(3) The size of the cell is related to
its function.

(4) The size of the organism depends

on the number of cells in it.

5+ 3R TS EBBTS ...

1) éb.cﬁ;ﬁb $ouFee &2 206% Nrvo
e3R8 08 TSGR,

(2) £ Dok, ¥oEFeo es £AED Sewe
IS0 QO eSTPEHES.

(3) Seso GBa0, 50%res0 298 5D Desoe
D SFSE ook

4) £2 B0, $0aFee es 226D Sere
Sogg D ESRUBLBel.

An example for short night duration
plant. ‘

(1) Maize

(2) Cotton

(3) Soyabean

(4) Wheat

) TS BOLE ETPTEE3 ...
1) £y

2) =&

(3) SFair D&

(4) R¥sose
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137. The correctly matched one in the

138.

139.

(28]

following is .........

(1) Taproot — parallel venation

(2) Taproot — reticulate venation

(3) Fibrous roots — reticulate
venation

(4) Fibrous roots — dicot

(800 T3 SO e BRLBDESS .......
(1) 6TXD> - S5ToBs & doTgEvo
(2) 803w - PTG T30 FgSvo
(3) 50y - orTE Hde o
(4) D - B Deves

Bone and muscle are joined together

(1) tendons (2) ligament

(3) joint (4) cartilage
JisSeiss Sotorod $D5D ...

(1) Bz (2) RS

(3) Seby (@) spood
Match the following.

A) Honeybee 1) Aquéculture
B) Silkworm 2) Apiculture
C) Fish 3) Sericulture
2D ST,

A) 3 Sreo 1) esEed

B) Sedptoies  2) a&gébs

C) Ssen 3) 26506

(1) A—3,B—1,C—2
@/ &-3B-26-1
@JA—2/B-3 C-1
4 A-1,B-2,C_3



140.

141.

Conversion of milk to curd is due

(2) virus
(3) protozoa
(4) bacteria

PR DEDHTT® DTN v
(1) 2o

(2)

(3) BFSEe

(4) eS80

The roots of the plant that have the
'Rhizobium' bacteria is....... e

(1) curry leaf

(2) beans

(3) banyan

(4) mango

EDAL? &5 LPIOA® &ote w0 FORS

(1) 555
2) D%
(3) %L

(4) 2»&

142. Match the following.

A) Producers
B) Consumérs

C) Decomposefs

1) Protozoans
2) Blue green algae
3) Fungi

BOOKLET @

BoB TR eBBBoERD.
A) eondoies | 1) BSwaren
B) 20@rrcrtoes | 2) QO esksbin Bdoren
C) dxHswes | 3) 2ogres 2

W-211/TET-211-EM/TM

1) A-2,B-3,C-1
@2 A-3,B-2,C-1
3 A-1,B-3,C-2
4) A-2,B-1,C-3

143.

144.

1) A-2,B-3,C-1

@2 A-3,B-2,C-1

3 A-1,B-3,C-2

4 A-2,B-1,C-3

The correct food chain s ........

(1) Insects —Plants — Rabbit —
Deer

(2) Rabbit —»Plants —»Deer —» Fox

(3) Carrot —Rabbit — Cow—
Tiger

(4) Small insects — Frog —Snake
— Peacock

(2) Boden —» oK en —» B8 —> VY,

(3) =TS — Boctes - @D —> DD

(4) IR HoTe0 — B3y —> FaAD >
)

'"Natural selection' the famous

. theory of evolution was proposed

(29]

(1) Jean Baptiste Lamarck

(2) August Weismann

(3) Charles Darwin

(4) Mendel

(S B30’ B e BOETR IFOBRD
BOFROIO TR - ovvveven.

(1) 8 ey oarg,

(2) estER IS

(8) TR

(4) oot

Turn Over
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145.

146.

W-211/TET-211-EM/TM

The scientist who discovered that
lightening consists electricity.

(1) Benjamin Franklin

(2) Galvami

(3) Andre Ampere

(4) Georg Ohm

AHeE" &t Db el By TR0
(1) Bood @reds

(2) ™o

(3) eao|tss esea%d

@) =bed

The academic standard not belongs

to science according to new science

textbooks. >

(1) Asking queSEi(:)fiTé'::

(2) Experimentation

(3) Communication through model
making .

4) Manipulationv

SFES T TP PO (B0 (§oB

TRE OB R BowoRods ATEEree

3%,

(1) ByHote

(2) BBTres oo

(3) SRarare DoDo THOP PR
Daise

(4) SdorpsNo

147. The three dimensional teaching aid

148.

[30]

among the following is .........
(1) television

(2) computer

(3) blackboard

(4) specimen

BB AE° (Berodah SHTexseso

1) =028

(2). sorgead

(3) dpww

(4) oty

A teacher, "washed the wound with
plenty of water and then covered the
wound with a cotton dipped in silver
nitrate solution" as a first aid for the
accident occurred in laboratory.
Then the type of accident is..........
(1) burns from phosphorous

(2) burns from alkalies

(3) burns from acids

(4) acid in eye

TLE PN’ #OR [FarSe B5 (5550

DI RO Ao DS TeSER,
BT o0 JES [Erseos’ wed Eras
TRORR) B0, @200 8 DoPoed (SEn
€08000.

(1) 5t He 5909 oo

(2) Foro S 9IS oo

(3) estre HoL IS roko

(4) 505’ esisoo dtseso
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149. Learning about different food habits | 150. Which of the following is NOT a

W-211/TET-211-EM/TM

of birds during a field visit to a birds
sanctuary Ais this type of learning.
(1) Learning by doing
 (2) Learning by observation

(3) Learning through peer group
(4) Learning by reading

2.5 DR 1§ SoUy Soomd depdowte
S50 e woTresn 000 Beoaoshote
254 BERSS e23590 eipBoD

(1) Sowio oo SEnSsto

(2) 50%8outo T atinS oo

(3) 50,0 1)0l0 THT EnSeEe
(4) B0 THT S S0te

purpose of the formative

evaluation?

(1) To decide the rank of the student
in a class.

(2) To make necessary changes in
teaching strategies.

(3) To get feedback about learning
student at different stages of
teaching.

(4) To improve the quality of

teaching learning process.

8od TS° DB Joryerdyl Boreresso

R ) é'é;?%g e

(1) m@bwggmu%ém:}w.

() S% Yrstes® eSvtRon Brtne
oo,

(8) &%08° 205 s’ IP By,
LSO B0230500 B8P Poito.

(@) SoTgsd  BBaS® e
Dorodoiiio.

(31]
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